PLAIN BOB MINOR
(the 1-2 case)
Plain hunt is based on a bell switching pattern of


X  X  X


I X  X .I


X  X  X


I X  X .I etc .. 
If you follow that on 6 you get the now familiar pattern, of 
h
1 2 3 4 5 6 


1 2 3 4 5 6

h
2 1 4 3 6 5


2 4 1 6 3 5

h
4 2 6 1 5 3


4 6 2 5 1 3

h
6 4 5 2 3 1

6 5 4 3 2 1
h
5 6 3 4 1 2

5 3 6 1 4 2
h
3 5 1 6 2 4


3 1 5 2 6 4

h
1 3 2 5 4 6


1 2 3 4 5 6
but then you are back at the beginning .. so 
instead of that last line, i.e. the

I X  X  I

when the treble (1) leads we do one different step, viz:


I  I  X  X
The bell in second place "makes", (short for "makes the place") i.e. stays in the same position.  When the treble leads, that is called the "lead end" and plain bob minor, at a "plain" (i.e. ordinary) lead end, one bell will "make seconds".
The effect of this is, instead of
h
1 3 2 5 4 6


1 2 3 4 5 6
(returning to rounds), we do
h
1 3 2 5 4 6


1 3 5 2 6 4
The 2, which was coming in to ring in 2nd place, steps back a place into 4ths, leaving you with the 1st and 4th place bells.  

NOW we go back to plain hunting, until the treble leads again i.e. the 

X  X  X


I X  X .I
but starting with 1 and 4, which (we will see, is the 2-3 position).
So, this is the lead end with the different step
h
1 3 2 5 4 6


1 3 5 2 6 4

and then here's the plain hunting till the treble leads:
h
3 1 2 5 4 6 


3 2 1 4 5 6

h
2 3 4 1 6 5


2 4 3 6 1 5

h
4 2 6 3 5 1

4 6 2 5 3 1
h
6 4 5 2 1 3


6 5 4 1 2 3

h
5 6 1 4 3 2

5 1 6 3 4 2
h
1 5 3 6 2 4
At this lead end, do the same odd step, i.e 

I  I  X  X
which gives us

1 5 6 3 4 2
The 2, which has made 6ths and is in 5ths steps back to 6ths place. 

SO the second lead end leaves us in 1-6 (which is really 3-4) as our starting point for plain hunting.  Writing out that lead end again gives, 
h
1 5 3 6 2 4

1 5 6 3 4 2
h
5 1 3 6 2 4


5 3 1 2 6 4

h
3 5 2 1 4 6


3 2 5 4 1 6

h
2 3 4 5 6 1

2 4 3 6 5 1
h
4 2 6 3 1 5


4 6 2 1 3 5

h
6 4 1 2 5 3


6 1 4 5 2 3

h
1 6 5 4 3 2
and the treble leads again, and we do the odd step again, so we get 


1 6 4 5 2 3

Note the 2nd bell WAS in 6ths, and goes back one place to 5ths leaving us in1 and 5 (and over half way there!)
Writing out the lead end again, and then carrying on with 1-5 (which we probably learnt as 23), until the treble leads again, gives:

h
1 6 5 4 3 2

1 6 4 5 2 3

h
6 1 5 4 3 2

6 5 1 3 4 2
h
5 6 3 1 2 4


5 3 6 2 1 4

h
3 5 2 6 4 1

3 2 5 4 6 1
h
2 3 4 5 1 6


2 4 3 1 5 6

h
4 2 1 3 6 5


4 1 2 6 3 5

h
1 4 6 2 5 3

The odd step at the lead end 


1 4 2 6 3 5

The 2 which has come from the front into 4ths GOES BACK to 3rds and we are left in 1 and 3, (which we recognize as a later part of the 1-2 work.  
So, again writing out the old lead end and going back into plain hunt until the treble leads, gives:
h
1 4 6 2 5 3


1 4 2 6 3 5

h
4 1 6 2 5 3


4 6 1 5 2 3

h
6 4 5 1 3 2

6 5 4 3 1 2
h
5 6 3 4 2 1

5 3 6 2 4 1
h
3 5 2 6 1 4


3 2 5 1 6 4

h
2 3 1 5 4 6


2 1 3 4 5 6

h
1 2 4 3 6 5

and at this stage, one more odd step 

h
1 2 3 4 5 6
and we have made it back to rounds. 

PUTTING THAT ALL TOGETHER:
PLAIN Bob MINOR

1-2 work

Tricks for ringing it:
- you'll know when the treble leads – it's one of your bells.

- you know too the place of your other bell

- convert that with the lead end step to get your new pair .. 
- and you're away

h
1 2 3 4 5 6 


1 2 3 4 5 6


h
2 1 4 3 6 5


2 4 1 6 3 5

h
4 2 6 1 5 3


4 6 2 5 1 3

h
6 4 5 2 3 1

6 5 4 3 2 1
h
5 6 3 4 1 2

5 3 6 1 4 2
h
3 5 1 6 2 4


3 1 5 2 6 4

h
1 3 2 5 4 6


1 3 5 2 6 4


h
3 1 2 5 4 6 


3 2 1 4 5 6

h
2 3 4 1 6 5


2 4 3 6 1 5

h
4 2 6 3 5 1

4 6 2 5 3 1
h
6 4 5 2 1 3


6 5 4 1 2 3

h
5 6 1 4 3 2

5 1 6 3 4 2
h
1 5 3 6 2 4


1 5 6 3 4 2
h
5 1 3 6 2 4


5 3 1 2 6 4

h
3 5 2 1 4 6


3 2 5 4 1 6

h
2 3 4 5 6 1

2 4 3 6 5 1
h
4 2 6 3 1 5


4 6 2 1 3 5

h
6 4 1 2 5 3


6 1 4 5 2 3

h
1 6 5 4 3 2

1 6 4 5 2 3

h
6 1 5 4 3 2

6 5 1 3 4 2
h
5 6 3 1 2 4


5 3 6 2 1 4

h
3 5 2 6 4 1

3 2 5 4 6 1
h
2 3 4 5 1 6


2 4 3 1 5 6

h
4 2 1 3 6 5


4 1 2 6 3 5

h
1 4 6 2 5 3


1 4 2 6 3 5

h
4 1 6 2 5 3


4 6 1 5 2 3

h
6 4 5 1 3 2

6 5 4 3 1 2
h
5 6 3 4 2 1

5 3 6 2 4 1
h
3 5 2 6 1 4


3 2 5 1 6 4

h
2 3 1 5 4 6


2 1 3 4 5 6

h
1 2 4 3 6 5


1 2 3 4 5 6

1-3 work
h
1 2 3 4 5 6


1 2 3 4 5 6

h
2 1 4 3 6 5


2 4 1 6 3 5

h
4 2 6 1 5 3

4 6 2 5 1 3
h
6 4 5 2 3 1

6 5 4 3 2 1
h
5 6 3 4 1 2


5 3 6 1 4 2

h
3 5 1 6 2 4


3 1 5 2 6 4

h
1 3 2 5 4 6


1 2 3 4 5 6




1-4 work

h
1 2 3 4 5 6 


1 2 3 4 5 6

h
2 1 4 3 6 5


2 4 1 6 3 5

h
4 2 6 1 5 3


4 6 2 5 1 3

h
6 4 5 2 3 1

6 5 4 3 2 1
h
5 6 3 4 1 2


5 3 6 1 4 2

h
3 5 1 6 2 4

3 1 5 2 6 4
h
1 3 2 5 4 6


1 2 3 4 5 6




1-5 work

h
1 2 3 4 5 6 


1 2 3 4 5 6

h
2 1 4 3 6 5

2 4 1 6 3 5
h
4 2 6 1 5 3


4 6 2 5 1 3

h
6 4 5 2 3 1

6 5 4 3 2 1
h
5 6 3 4 1 2


5 3 6 1 4 2

h
3 5 1 6 2 4


3 1 5 2 6 4

h
1 3 2 5 4 6


1 2 3 4 5 6




1-6 work

h
1 2 3 4 5 6 


1 2 3 4 5 6
h
2 1 4 3 6 5


2 4 1 6 3 5

h
4 2 6 1 5 3


4 6 2 5 1 3

h
6 4 5 2 3 1

6 5 4 3 2 1
h
5 6 3 4 1 2


5 3 6 1 4 2

h
3 5 1 6 2 4


3 1 5 2 6 4

h
1 3 2 5 4 6

1 2 3 4 5 6



h
1 2 3 4 5 6 


1 2 3 4 5 6

h
2 1 4 3 6 5


2 4 1 6 3 5

h
4 2 6 1 5 3


4 6 2 5 1 3

h
6 4 5 2 3 1

6 5 4 3 2 1
h
5 6 3 4 1 2


5 3 6 1 4 2

h
3 5 1 6 2 4


3 1 5 2 6 4

h
1 3 2 5 4 6


1 2 3 4 5 6

